Efficiency vs P,

-0.05
2 : : :
9.045 e RRSIREEERRE SRSIREEERIEE
> H H H
20.04 SELTETIEIELD Breeeeenene e
o : : :
L S RRREEIERS REREEREE
[} H H
0.03F-+-erzeiereennanens Beeeseeenen e
0.025 e e o
0.02F -+ P Feeeeeeeeen e
0.015fF - +--ermvisereneeeess Feoernnenesd o
0.01F -+ P Feeeeeeeeen e
0.005F- -+ ++vxseviseeeeneensns Beoeeeees e

Ratio

0.95

=
o
iN

1 10 . Gedf’

—s=— DQM_mkFit_baseline_lowPT
—e— DQM_mkKFit_baseline6iter_lowPT
—— DQM_mkFit_TT_RetrainV2_WP2_6iter_ep3_lowPT

=0.05
71 SRR O R T - e
g : . . : H
£0.08F oot foeeeenns
o . B .
£).035F -+t
@ H
0.03F -
0.025F bbb WS ] "
Y7, NN OVSRNNS USRE SRSROOS A S S
0.015F -+ * 5
0.01-
0.005F-
J“G

Ratio

1.

T T T T T T T [ITTT

b
N
A
-
N
w

Efficiency vs ¢

=0.02




	Contents
	Page 1


